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LA SA M
NRet S22t
S ANT (crel @)
224 - B - S9I(30) - ARAY - BAS A HIDEZ
202 04l 2,000 2,000
01 2LHoIH 2,000 2,000
OBBAIY
2,000,000& 2,000
301 LRENSF 5,000 5,000
4 IIE2d=s 5,000 5,000
OSYHNE & 2= 2,000,000& 2,000
O3l s &= 3,000,000 3,000
303 Za= 3,800 3,000 800
01 Za= 3,800 3,000 800
ONEH UHFSH 27
3,800,000& 3,800
308 XXM S 30,449 16,957 14,492
13 I ZSoTHE 30,449 15,957 14,49
OBt Al
30,449,000 30,449
LAZA & AL 8,900 10,100 1,200
201 €et=ay 5,300 5,300 0
01 At22t2ld 5,300 5,300 0
OIHA Z ALK 2,300,000& 2,300
O&AZ=Z1 3,000,000& 3,000
202 048l 3,600 4,800 1,200
01 =LHOHI 3,600 4,800 1,200
OgaZA
3,600,000& 3,600
SEHES=Y 27,440 25,328 2,112
201 €eH=ay 16,840 14,728 2,112
01 A2l 16,600 14,488 2,112
OosaZE 12,300,000 12,300
ORI IAIA 4,300,000& 4,300
2 55234 240 240 0
OdlEXtE 240,000 240
202 048l 10,600 10,600
01 SLHo4HI 10,600 10,600
OZEES 0l 10,600,000& 10,600
AH 2 ZHI 58,260 59,253 A993
Jl=2ZHI(2FAH) 58,260 59,253 993
SN2 58,260 59,253 A993
201 Zet=3h] 34,910 36,649 AT39
01 AtR2t2|HI 34,910 36,649 AT39
O=RAMEg=S4l 13,960,000 13,960
@r=1=i:] 20,950,000& 20,950
202 04| 10,750 10,944 A194
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